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Answer: B

QUESTION: 225

Recently, you have seen an increase in intrusion attempts and in network traffic. You decide to
use Snort to run a packet capture and analyze the traffic that is present. Looking at the example,
what type of traffic did Snort capture in this log file?
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A. Linux Ping Reply

B. Windows 2000 Ping Reply

C. Windows NT 4.0 Ping Request
D. Linux Ping Request

E. Windows 2000 Ping Request

Answer: E

QUESTION: 226

Recently, you have seen an increase in intrusion attempts and in network traffic. You decide to
use Snort to run a packet capture and analyze the traffic that is present. Looking at the example,
what type of traffic did Snort capture in this log file?
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A. Trojan Horse Scan
B. Back Orifice Scan
C. NetBus Scan

D. Port Scan

E. Ping Sweep

Answer: B

QUESTION: 227
Recently, you have seen an increase in intrusion attempts and in network traffic. You decide to
use Snort to run a packet capture and analyze the traffic that is present. Looking at the example,
what type of traffic did Snort capture in this log file?
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A. Linux Ping Response

B. Linux Ping Request

C. Windows 2000 Ping Request
D. Windows 2000 Ping Response
E. Windows NT 4.0 Ping Request

Answer: B

QUESTION: 228
Recently, you have seen an increase in intrusion attempts and in network traffic. You decide to
use Snort to run a packet capture and analyze the traffic that is present. Looking at the example,
what type of traffic did Snort capture in this log file?
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A. Nmap SYN/FIN Scan
B. Nmap ACK Scan

C. Nmap NULL Scan

D. Nmap XMAS Scan
E. Nmap SYN Scan

Answer: C

QUESTION: 229

Recently, you have seen an increase in intrusion attempts and in network traffic. You decide to
use Snort to run a packet capture and analyze the traffic that is present. Looking at the example,
what type of traffic did Snort capture in this log file?
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A. Nmap SYN/FIN Scan
B. Nmap NULL Scan

C. Nmap ACK Scan

D. Nmap SYN Scan

E. Nmap XMAS Scan

Answer: D

QUESTION: 230
Recently, you have seen an increase in intrusion attempts and in network traffic. You decide to
use Snort to run a packet capture and analyze the traffic that is present. Looking at the example,
what type of traffic did Snort capture in this log file?
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A. Nmap XMAS Scan
B. Nmap NULL Scan

C. Nmap SYN Scan

D. Nmap ACK Scan

E. Nmap SYN/FIN Scan

Answer: A

QUESTION: 231
The image shows an example of what algorithm?

e=11

g=2
Mice: L L 2P med 118 L B med 11T
L L 2 ¥medri=g - & mod 1= 7
Privabe Value Pubbc Koy Ehared Secet Koy
Ha=23 Ya=8
[P ¥h=8 Cammen key=7

A.DES

B. Triple-DES
C. Blowfish
D. DH

E. IDEA

Answer: D

QUESTION: 232
What type of cryptographic system is represented in this image?
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C. Polybius

A. Caesar
B. Vingre

D. Purple E. Enigma

Answer: E

QUESTION: 233

What classic cipher is shown in this image?

A. Feistel Cipher

B. Caesar Cipher

C. Vingre Cipher

D. Polybius Cipher
E. Enigma Cipher

Answer: A
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SAMPLE QUESTIONS

These questions are for demo purpose only. Full version is
up to date and contains actual questions and answers.

Killexams.com is an online platform that offers a wide range of services related to certification
exam preparation. The platform provides actual questions, exam dumps, and practice tests to
help individuals prepare for various certification exams with confidence. Here are some key
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Actual Exam Questions: Killexams.com provides actual exam questions that are experienced
in test centers. These questions are updated regularly to ensure they are up-to-date and
relevant to the latest exam syllabus. By studying these actual questions, candidates can
familiarize themselves with the content and format of the real exam.

Exam Dumps: Killexams.com offers exam dumps in PDF format. These dumps contain a
comprehensive collection of questions and answers that cover the exam topics. By using these
dumps, candidates can enhance their knowledge and improve their chances of success in the
certification exam.

Practice Tests: Killexams.com provides practice tests through their desktop VCE exam
simulator and online test engine. These practice tests simulate the real exam environment and
help candidates assess their readiness for the actual exam. The practice tests cover a wide
range of questions and enable candidates to identify their strengths and weaknesses.

Guaranteed Success: Killexams.com offers a success guarantee with their exam dumps. They
claim that by using their materials, candidates will pass their exams on the first attempt or they
will refund the purchase price. This guarantee provides assurance and confidence to individuals
preparing for certification exams.

Updated Content: Killexams.com regularly updates its question bank and exam dumps to
ensure that they are current and reflect the latest changes in the exam syllabus. This helps
candidates stay up-to-date with the exam content and increases their chances of success.

Technical Support: Killexams.com provides free 24x7 technical support to assist candidates
with any queries or issues they may encounter while using their services. Their certified experts
are available to provide guidance and help candidates throughout their exam preparation
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